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                                         SIMPLIFICATION
555.55 + 55.55 + 15 + 0.55 + 0.05 = ?
A. 626.50
B. 626.70
C. 625.50
D. 626.70
E. None of these
(3080 + 6160) ÷ ? = 330
A. 24
B. 23
C. 28
D. 27
E. None of these
? * (523.5 + 687.5) = 24220
A. 24
B. 20
C. 28
D. 27
E. None of these
36 * 1.75 + 24 * 3.25 = ?
A. 142
B. 141
C. 162
D. 182
E. 152
5.8 * 2.5 + 0.6 * 6.75 + 139.25 = ?
A. 139.80
B. 157.80

C. 156.70
D. 170.70
E. 176.60
(560 ÷ 32) * (720 ÷ 48) = ?
A. 261.5
B. 262.5
C. 260.5
D. 263.5
E. 264.
456 ÷ 24 * 38 – 958 + 364 = ?
A. 167
B. 146
C. 136
D. 128
E. None of these
(85410 + 36885 + 24705) ÷ 1600 = ?
A. 95.724
B. 92.174
C. 97.275
D. 91.875
E. None of these
873.53 + 532.32 – x = 535.1 + 232.95
A. 627.8
B. 627.5
C. 637.5
D. 637.8
E. 636.5
[(272-32)(124+176)]/(17*15-15) = ?

A. 240
B. 320
C. 400
D. 380
E. 300
36 * 1.75 + 24 * 3.25 = ?
A. 146
B. 141
C. 143
D. 142
E. None of these
16.23 * 12.9 + 17.32 = ?
A. 224.87
B. 234.87
C. 244.87
D. 226.87
E. None of these
444 ÷ (16*1.5) = ?
A. 14.5
B. 16.5
C. 18.5
D. 20.5
E. None of these
? / 529 = 324 / ?
A. 325
B. 414
C. 456
D. 448

E. 352
[18 * 15 – 20] / [(3.2 + 9.4) – 7.6] = ?
A. 30
B. 40
C. 50
D. 70
E. 60
85943 – 71206 + 37517 – 3512 + 119 = ?
A. 49961
B. 48861
C. 47861
D. 46861
E. 41661
2552 ÷ 97 + 34 * 43 – 96 + 69 = ?
A. 1676
B. 1461
C. 1361
D. 1576
E. None of these
(54679 + 5982 + 32614) – (312 * 69) = ?
A. 75724
B. 71747
C. 72747
D. 73747
E. None of these
[(24*16) – (736 ÷ 23)] / [(42*17) ÷ 102]
A. 50.385
B. 50.485

C. 50.285
D. 50.185
E. 50.225
5616 ÷ 18 ÷ 8 = ?
A. 26
B. 32
C. 41
D. 38
E. 39
72.42 + 385.66 + 4976.38 = ?
A. 5436.46
B. 5432.46
C. 5433.46
D. 5434.46
E. None of these
(9.8 * 2.3 + 4.46) ÷ 3 = 3?
A. 2
B. 3
C. 4
D. 1
E. None of these
(656 ÷ 164)² = √?
A. 4
B. 16
C. 256
D. 400
E. None of these
8934 – 3257 + 481 = ? + 2578

A. 3250
B. 3580
C. 3560
D. 3480
E. 3520
(?)1/4/ 8 = 48/(?)3/4
A. 324
B. 364
C. 384
D. 374
E. 314
12.5% of 350 * 8.4% of 250 = ?
A. 912.75
B. 915.75
C. 913.75
D. 918.75
E. 916.75
(331 + 19)*(15 – 11)*(37 + 13) = ?
A. 67600
B. 70000
C. 69850
D. 72000
E. None of these
√((444)÷37 + 15 + 11 * (?)) = 7
A. 5
B. 3
C. 2
D. 4

E. None of these
3/14 of 5/13 of 6/7 of 3822 = ?
A. 220
B. 250
D. 240
E. 260
69.69 – 51.54 + 73.65 = ? + 32.42
A. 26.38
B. 32.38
C. 43.38
D. 57.38
E. 59.38
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